
 

 

 

 

 

 

 

 

 

ANSWER KEY 

 x2 + 15x + 36 

(x + 3)(x + 12) 

Multiply to 36            

Add to 15 

 

1, 36     -1, -36 

2, 18     -2, -18 

3, 12     -3, -12 

4, 9       -4, -9 

6, 6       -6, -6 

 

 x2 − 1x − 6 

(x + 2)(x − 3) 

Multiply to -6            

Add to -1 

 

1, -6     -1, 6 

2, -3     -2, 3 

 



 

 

 

 

 

 

A. (x − 4)(x − 7) 

     x2 − 11x + 28  x 
  

C.  (x − 4)(x + 7) 

      x2 + 3x − 28     x 
       

B.  (x − 4)(x + 7) 

       x2 + 3x − 28     √ 

D.  (x − 4)(x − 7) 

      x2 − 11x + 28   x 
       

I. II. III. 
x2 + 3x − 18 

(x + 6)(x − 3) 

 

x2 − 9x + 18 
(x − 6)(x − 3) 

 

x2 − 3x − 18 
(x + 3)(x − 6) 

 

 x2 − 18x + 32 

(x − 2)(x − 16) 

Multiply to 32            

Add to -18 

 

1, 32     -1, -32 

2, 16     -2, -16 

4, 8       -4, -8 

 


